[image: image1.png]A parallelogram is shown below.
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Which rectangle has the same area as this
parallelogram?




Area of Rectangles, Rhombuses and Parallelograms
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[image: image3.png]Sanjit makes a parallelogram. He starts.
with a rectangle and adds 2 congruent
triangles as shown below.
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The parallelogram has an area of 190 cm?.
What is the area of cach of the triangles?
a 15cm?
b 30cem’
¢ 160 cm®
d 175 cm?




[image: image4.png]‘Which of the following has an area of

25 cm? and a perimeter of 25 cm?
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[image: image5.png]Consider the parallelogram below.
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Which expression can be used to find the area,
in square centimetres, of this parallelogram?

a 5x2

b 5x3

cC 2+3+5
d

3+5+3+5




[image: image16.png]Consider the rhombus below.
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What is the area of the thombus?
5.4 .cm?

6.8 cm?

11.6 em?

13.6 cm?
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[image: image17.png]Which shape below has an area of 12 cm®?
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[image: image6.png]Two triangles each have an area of 48 cm”
Which could be their imensions?
a

Triangle | Base | Height

1 som | 12em

2 t6em | som

D [Trangle | Base | Height
1 sem | 6em
2 | 12em | 4cem
© [ Triangle | Base [ Height
1 sem | teem
2 | 24em | 2em
]

Triangle | Base | Height

1 sem | 8em

2 6om | acm





[image: image7.png]The measurements of a triangular prism are
shown below in centimetres.
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One face has an area of 12 cm?. Another face
has an area of 60 cm?.

— 6cm —i

‘What are the areas. in cm?, of the remaining
3 faces?

a 12.12.50
b 12.12.60
¢ 12.50.50
d

12. 60. 60




Surface Area

[image: image18.png]The diagram below shows a shoebox without

180 cm—

A student covers the outside of the shocbox:
with copstruction paper.

If the student does not cover the lid, what is
the surface area that is covered?

98205 e
143350 cm?
1964.50 cm?
5044.50 e



[image: image19.png]Jacob paints the outside of the rectangular
prism below, except for the bottom.

k=3 cm—

‘What is the total area that he paints?



[image: image8.png]The measurements of a triangular prism are
shown below in centimetres.

10cm

7

One face has an area of 12 cm?. Another face
has an area of 60 cm?.

— 6cm —i

‘What are the areas. in cm?, of the remaining
3 faces?

a 12.12.50
b 12.12.60
¢ 12.50.50
d

12. 60. 60




[image: image9.png]The area of one face of a cube is 4 cm”.

‘What is the surface area of the cube?

a 10 em?
b 12.cm?
¢ 20em’

d 24’




	Shape
	Number of Faces
	Area of Face 1
	Area of Face 2
	Area of Face 3
	Area of Face 4
	Area of Face 5
	Area of Face 6
	Total Surface Area
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Volume and Surface Area
1. A rectangular prism has a volume of 90 cm3. The area of its base is 45 cm2. 



[image: image10]
What is its height? How do you know?
2. 
[image: image11.png]Jackie fills the triangular prism pictured below with water. Then she empties the water into a
rectangular prism.

acm 5cm
il

2cm

Determine the number of times that Jackie must fill the triangular prism with water to fill a
rectangular prism that is 10 cm long. 2 cm wide and 12 em high.

Justify your answer.




3. For each measure, would you use a linear, square or cubic unit? 
Explain your choice and suggest an appropriate unit.

a) the area of the school playground

b) the distance between Ottawa and Toronto

c) the amount of water in a swimming pool
4. How much chocolate can fit inside a Toblerone Bar? 

5. How much cardboard paper is needed to make the box of a Toblerone bar?
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Area of Triangles





A = L x W    





A = b x h   





A = b x h  ÷ 2 








